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Surface Tensions and Related Properties

Liquid v (MN/m) AH, ,(kcal/mol)
Hexane 18.4 31.9
Octane 21.7 38.6
Decane 23.9 45.6
Dodecane 25.0 49.6
Water 72.0 40.7
Mercury 470 23.8*

*at 401°F, 4 PSI
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Contact Angle
_ Mo wetting
Absolute wetting
ﬁ' = [:I':I E =18[:|‘:'
g < 20 g = 0= 8= qne
(eg : water on glass) (‘eg : mercury on glass)
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The liquids in this photograph have different levels of
viscosity or fluidity
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Ao 5 435l PR il e Ja2e caa 5l Poiseuille’s formula o) 52 Aalas a2iins

Do LS as 5 5l0 el
Difference in pressure
High ( Ap ) Low
pressure pressure

Fluid Viscosity 1

Length L
POISEUILLE'S LAW

1T, the constant 3.1415926...

r, radius of the capillary tube

Ap, pressure difference between the ends of the capillary (this causes the
flow)

t, time required for volume V of liquid to flow through the capillary tube
V, volume of liquid which flows through a capillary tube

L, length of the capillary tube
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Viscosity of Some
Common Liquids at 20°C
Viscosity
Liquid (N s/m?2)*
Acetone (C;HgO) 3.16 x 1074
Benzene (CgHg) 6.25 x 1079
Blood 4% 1073
Carbon tetrachloride {CCl,) 9.69 x 1077
Ethanol (C;HsOH) 1.20 X 10°%
Diethyl ether (C;HsOCHs) 2.33 <104
Glycerol {C3Hz03) 1.49
Mercury (Hg) 1.55 x 102
Water (H,0) 1.01 x 1072
* The 5f units of viscasity are navrton-secand per mater sguared.
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Effect of Temperature on Viscosity

High
i

Viscosity

W
20 40 G4} B 100

Temperature “C

Viscosity decreases as the temperature increases since increased

temperatures tend to cause increased mobility of the molecule.




Vapor Pressure  :g il baalititd

Jdl o o138 Al Ggan die Bl mhas 398 &l G bara g8 1 )RS aall
Adma 3l pada ) oA

LalS alall (g lanll barzall ol WS TG Gl g lag bara Jile JKD 0 s pall (06
Dl iVl g Gy adl a5 (e Lgd ) shaa

&) ) el @y bl ) Tamy Al b lan ald Gldad) s Jile (pai o Ledie
Gl sle 5 4 Lo Jilu (e paSl o2 pdall dglee g 1) Lo Alla iy 4858 3 sall £l
gle bl 5 5Ss Bsh A58 i Bl a5 sie RlAS) adl Apee 5 ) a da ) e
Ol Al e ddas) g Galall bl + (g gall laraall ¢ gena s cUY) o) joa

N il o 3 jallall sda jadl (Says

Din () ey diladl iy o (e (lama s () s il s (5 s palias)
Al 43y s g AL 45 ) g Gy ) 331 A Ll Jsam g ) o i (i) (i g3 Ll

A Jaaalld J5Lall (g LA Jaaally Jarall 138 (i jpay Unin sy LA 138 o i Y
Al ae ol Al 4 oS Laie Jldl A e el laall sa Jilll
EJ\JQ‘&AJJ}JSM\@L&Qdiwtﬁjhﬂ\hual\wwj

s IS AT o guay Qlllall (g 30 Sl Al mada gig

ny el Ay Cagus elall ()l (1 JS3) s AN (6 sall Jaruall con U 880 sl ulS & 55 13)

PEPRLTRERCS g p- R \PE 5.

14



rala g li «—
Ul oo

ot |

o i

Oe Al da o aaing ¢ A (e il e e B 8 aaie Jy (LIS A 1 Al oda B
A0 Gl Ll Loalls Wl aY) 138 (B ¢ DA g ol elall oS5 A8 pan iy 3al
da o die elall i Taraa (i 1305 i) ae () 350 Alla 8 Laaie el 0 o) i 5 )yl
Ay elld die Jarall (o yey ¢ QalSI 8 olall ApaS (e lail) (yaky 4usd saais Lild digea 5 ) ja
ahall oSy 6 AY) Bl sndl o i ) Gaay | Al @l die clall g il Lzl
A pald ol b Jilu JS1 () S

2z e Jauafill (e g iy )il Taxaall (e Al i g g 128

15



" dﬁ.ju‘ ‘._1*%5 "

Solutions Chemistry
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Parts of a Solution

* SOLUTE - the part of a solution that is being dissolved (usually
the lesser amount)

« SOLVENT - the part of a solution that dissolves the solute
(usually the greater amount)

« Solute + Solvent = Solution

16




Solvent Solute Solution

LNt

Solute = solute Solute -solvent

Solvent - solvent

:Solubility Enthalpy of 413 G

) A2 (I dad aaiad g, quda B Glde Lol sl dpland caliaall AN B pdl) oo B ke s

Alla b Ly 5l 201 U (1685 5. Jstaall gl 5480 e (el (oa Ja 03 K B gy | st
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) AilaasS Jagl g5 et A U 4Bl Aiaaa ¢ 3 Jolan pudaag Ladie AN A Badlall pacl)
To determine the enthalpy i) & sl il s, Lpdany 0 1oy A ciliilad

1l shad SO 4leal) audi change

Separation of solute particles. <l Gl ja Juaid )

Separation of solvent particles to make ‘holes’ <l Gl ja Juad -¥
Formation of new interactions cuiell 5 el ( sxaadl Sl Ll 0 oS5 -Y

(45Y) 4 gl JSEY) kil ) between solute and solvent
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AH5>: Separation of solvent molecules

— L

AFH3;: Formation of solute-solvent interactions

Three types of interactions in the solution process:
« solvent-solvent interaction
« solute-solute interaction

» solvent-solute interaction

18




0 Step?
W w
0% A,

Solute

Solvent

AHq,, = AH, + AH, + AH,

soln
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State of Solution  State of Solvent  Stateof Solute  Example

(a8 (a8 (a8 Alr

qui qui (a8 Ohygen in wate
iqui iqui Liquid Alcoholin water
iqui iqui old onltn water

0l 0l (as Hydrogen in palladium
0l o0l Liquid Mercury insiver
0l ool a0ld alver in gold
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Electrolyte : 4l <) Jdlas -
Non - electrolytes : 4gds Sl e dillae -0
Led 0S5 g ¢ cudall (8 Gl e 5ol Ld dulia sabe (ha oS8 Al I Jillaall -
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Jidlas Jie strong electrolytes 8 <l 51 cend Al o300 By ¢ Adle Aoy
 Cania Cul g ) ety L cpliiaalay ¢ oLl b =3l 2o il 5 alaaY)

yaaa g HNO, Sl il (e ¢ HCIO, el Sl ) (aea Ay gl alaa¥) ALl e g
: SV el sl A el ) IS el

HCIO, + H,O > H,0 + CIO,
HNO, + H,0 > H,;O0 + NO,
HCl + H,0>H/O +ClI"
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CaOH), , paci sy yun « (NAOH ) s i €5 2 se i) 41

(K OH ) psanl gl 2S5 H0a

NaOH + H, O —»Na, + OH_
CaOH), + HO —»Ca, + 20H_
KOH +HO->K, +OH_

Al Aoy ol & CL‘}!\ L e

NaCH s gl 51 Ji e Ay 8 a0 85 ¢ B 8 inland (a0 585 Ml

NaCl +H,0 —»Na’ +Cl,

NH G C a1 3 558 el e i ac iy 5 8 e (o 0558 30

NH,Cl +H,0 »>NH, +Cl

CH3COO Na o523 saall QmdeQﬁJESLG)dMuMOAOJSﬁC)“i

CH,COO Na +H,0 —Na}, +CH,CO0"

(NH4)2 CO3 eﬁy‘ﬁ\uﬁyﬁ@d&@mﬁ&;@jmw“uﬁcmi

(NH4)2 CO;+H, O -»2NH, +CO_,
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CH,COOH ey s - i e e

CH,COOH 0 CH,COO +H*

o5 5aY) 2 5 50 + Adpeaa sacal QUi

NH,OH 0 NH;+OH"

s oladl (53 agn s Cheaall Gl SISV gl Gl SISV G ) Sy ddle
s Jalsll il aae e AV (ullatia (agas audas s bl cplill e A1V (o g8l a5 SO
Al Lebdlae 4l sl 5 Golitall s ) G ) 3V Al e ) e sl

sale (g 0 sSE AN Jdlall @l & (Non - electrolytes ) dsid s S e ddladdl -
Celall 8 Ll Jslaa g eladl b Sl Jslae e ¢ Ledillae 8 il ) ) i Y 440

CeHy, Og +H,0 >CeH,,0,

udall 4g)dal) 3alal) dsd o Ly Jullaal) il - ¢
Slasd 5 jall da ja (i die Al alall e 3ol ) el o 4 Y Jsladl S 13
Oe B33 cud) of 4y Jslaal) (S 13 W ¢ ( Saturated Solution ) il Jsladl 44de
oSer Lad ¢ (Unsaturated Solution ) geiiall ye Jslaall e Gllad 234 oLl
Il (e 83l e s siad <l 1Y) ( Super saturated ) il 358 Jllas e J seasll
e Cigla A dima sl s a0 die 4Bl (Sa Lea S
udally A salall (e IS AneS daad ) Gang bl Jlaall 388 mia g (S
Sl e il Basae (3 5k Glla g ¢ J slaally (03 s gall
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9 Jllaall (e g 530 4335 Slla
idial) Jsladl 1)
GBlaall Jslaall ¥
Al Jsladll Y
il 3 L et (o) L€l 1) Tl yomny oS
s A8l Jslaal) /Y )
s STl piale el 535 Sl Guilaia g e ) 4l oay (Al Jglaalld
STl aal s Qe s Canda e (0555 5 LilasS (pianie
el o) 3ol el ClAal) B8 Gaad (S V-
sl sl (a5l 430 oS Jucal SV
et
) i S i
s trall Jglaall / Ll
Cradl il (38 G (S
gl Al ) G il AU S Juad (K-
ouilaie -
oLl b il e
169 A Jslaall / GG
S5 el il @8y Haad (Sar-
el A gl (B9 il 430 oS Jasd Sy Y-
e
Al b lal) e
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T
de Cpre cude (Al D o) 5 Cpme cude (B el Al Balal) A4S e (e 3a 2a g
i S nde (e Badae AaaS (8 3 () (S ¢ Qlde (e ApaS a8 B b)) a da 0
ECITLINEEY
Jstaall G yas Lais il Jaally o3l (e AL S e g5 sins o) Jslaall iy
S5l Jstadlly ol (e 580 A e (5 sing 2
da )y die Gl e el A S AN Jslaall @lld asly addal) Jslaall Coa g ddle
e sl
; adl) Alalas g catdall Jslaall g g0 U JRE

Converting a Concentrated
Solution to a Dilute Solution

1A=
Add e I

solvent
——

Concentrated solution: Dilute solution:
More solute particles Fewer solute particles
per unit volume per unit volume

V, x M, = moles solute =V, x M,
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The Dilution Equation

For initial solution : C1 x V1 =nl
For final solution : C2 x V2 =n2
However n1 = n2
therefore: C1xV1=C2xV2
or : ClV1=C2Vv2

da0 die ol e a el A i Y A Jalaall @lld ai) e asdial) Jplaal) Cayy
OS5 Cuny QA e S HS) e (5 ging 3 Jolad) @y gl | el laaall 550 sl
bl 8 laguazy ae o) il alla 8400 52 5 ) s (8 40e Al ¢ Jadl g Al (e S
6 sl LpaSll Ly ¢ Adma B A Appd g Ji die fpma cude A Le Blad LYY (o ped LS
O)R) 2 g Al oda 8 g ) jEieee Y glaa (S Cudall (e Badae ApaS 8 s Al ) e
Jsad sl A Jame (s gty Y die 5 ¢ Jslaadl & il il 5 caleall Gl
Cdshall e Al ki g Jladil Jae e 5 Jsbaall b il el
CSay B Lo (@585 ¢ (e Jaria 53] s da 0 die QI (e 4eS e Jslaall (5 iy 8
ddall 38 Jdadl Jaladll o awi 5 dalall Cagolll 8 anld) caudall
Il (e 320 3 ApaSl Jadli o Jladl sda e A8 Y Ll AR e Jillsal) sda et g
Ao U Al e JB IR (g0 ApeS e Jglaall s ginl 1D 5 (W) andie Jglae dplane
O Jsall (Say a5 ¢ padiall ye Jslaally o jay 0ld (pime Jaria 55 s a0 2ie aiilll
U die Jslaall 385 Y & Lo 550 all 5 arall (e dima g la cand 4l 413Y)
el
Jslae 30 100 ML 2laeY addieg 3 0.0155 M <l 5 5 sl e ana Guual ; Jlia
5.23x107 M.l 58 5 uel) e
C1=0.0155 M
V1=?
C2=523x10"M
V2 =100 mL
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ol
- Jolaal) 38 5 e uadl) gk
-

S (5 aans stall 43580 S i ol laall a5 s 0 (S
Al A gall Al ; Y

Jslaall e 22 100 (Bl adh QA ALS (e 3 jle (oo

Percent by Mass

mass of solute

X 100%
mass of solute + mass of solvent

% by mass =

_ mass of solu.te % 100%
mass of solution

IS O sina 1368 (L35 % © ) 038 i il o gon goal) 25 ST e gl Ll (f L i)
() psasall 3 oIS =l G al > 0 (g m Jslaall (e 22 100

Jslaall ana sraal Cumy elall (0 4818 L3S 8 2 03 saaall 2 ) 1S el VY A1) 32 Jlia

(W % Jslsall 35 1) Jslaall 435 ) o) A ghall Apll ol ¢ jilla V1
e e (amasall )5S ) Qi )5 dendy adabin JS) @ gllaall e J pand) Sy i Jad)

Jslaall

j:- 2=y
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Agaaall 4 gial) dpadl) ; LG

d}M\uA‘)ﬂLﬂ\~~ @JP}A\u\M\PL}GBJ\A&‘\:\M\L#\M\

valume solute (mL)

i 100
Total valume of solution (mL)

Cancentration salute (/v %) =

525 50 Il e (Apenabang) ille Y JS of i Leaa 06 Y 0358 55 ALl Jlaalli
_d)u\w(mmzﬁm'&hj))&\~~

% Concentration

% (Wiw) = mass solute % 100

mass solution

% (wW/v) = |
m
ass so ut_e % 100
volume solution
% (V) =
volum lut
olume solute % 100

volume solution

Jslaall ge jille Vo v (8 J ) e Sille VY (e Cillly Jslae 3 5 ol s Jlia

Jal)
dolaall aan o lad) pas ands adaby
12 mL alcohal
100 mL Solution

& ‘ .
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( Molarity )a_ ¥ sall ; Gl
o (ke Ve v ) pilaad g 8380 ga gall (Anal_adl Ay jall Joldall &Y ge 3o A 4y Y gall
Jsladdl

moles of solute
larit lute (M) =
Ol s bH e Liter of solution

: T 4y aiay) Jals

2.0 M HCI = 2.0 moles HCI
1 L HCI solution
6.0 M HCI = 6.0 moles HCI

1 L HCl solution
cd el s e alall il 5 s e Ll Y pall ae s (S
Coall da ety et dg Y gall L OJ\JAS\Z.;JJU.&D ..\Ahgeéﬂ\d‘!iﬁdzkﬁam

et el (e 48 S 3 (NHLCI) s sa¥) 205518 el e YT Ll Ll (a8l 1 JUa
¢ Jslaall 138 (b o i 91 35 A Y g anad ¢ jille ) €0 Jglaall aaa

AL Jdadll ana e Logudie I3l Y senae gl Ag,Y sall o S35 ;)
A5 Ao slea (o (i seY) 25518 ) el Y g dae e (g Blall 2 1)

C il 3 / el ¢l = Y pall e

1 rmal NH4CI

11 23 q NH4C] = — 0.43 maol NH4CI
1239 2.5 g NH4C
21145 mL = 1L =145 L
ML = T a00 mL '

242 mol NH4CI

=
:I 0.T45 L

= Z.97 M (MH4LCI)
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 Jolaall g Byagleas aglinall (539 aglan Byl

Calculating Mass of Solute from a Given
Volume of Solution

‘ X Molarity (M =mol solute / Liters of solution = M/L)

‘ X Molar Mass (M= mass / mole = g/mol)
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( Molality )& gall : lasl

(b Be LSy all i gl) 8 Jlaall 5 55 e el (3158 il e Al 4
Aol Aleal) (3l o gall 4 jall ) 5 5Y) 2aai g gaim g

) eala Ve e BRI Il Y ge dae e B jle AV sall
aaSIL il ()5 / il Y ge 220 =AY sl
B
Al il 535 x Ve e il Y g sae = AV )

Molality (m)

moles of solute

me mass okg)

s4diada
a0 Glo aaiad Y Ay sall ¢ ol pall da 0 et Y ) Y ge dae N Tk
_o)\)aj\

Because neither moles nor mass
change with temperature, molality
(unlike Mmolarity) is not temperature

dependent.
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Ovv Bamigall byl aal a0 A0 LY (e jana J ol AV g0 cual ; Jla

. C-LAM L.)A e‘ﬁ

dall Y g 220 Y5l aa s

il 550/ aalls o3l = Y sl ne

Jsa vV =0A0 /0 A0 = mlall Y g0 220

J¥5e/05=0.2 +.) =4y 5al
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Changing Molarity to Molality 4N gall A 43 ,¥ sall (pa Ja g2l
= Molality 4d¥ sall clua aoakivs density of solution J staall 43U L e 13)
. and vice versa gessa sS2ll s Molarity 4:,Y sl¥)
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( Normality ) .4tad) : Luad

el oall (S anly Caay Le e aaiad a5 Jillaall 38 55 e el (3,0 a8l (e

¢ ol g dlsall ala

Clilae (i jad (ulal) 8 4adlaal a3 Jgally A8 13 3alal) (e 43S el jall ¢ 4K
el (s ye elld axy Jad 25 e sl g (alaal) G Jaladl

¢ )l g Alall g Jgall Cpm A8l AL

3acldll g Gmeall da o/ Y gall dae = 32c ) gl maall ol jall o SIS

5 SV aae / 5okl Y ge dae = J)FAY) 5 5ausY) @lelds 8 salall al jall oSSl
caad sl J gall L&Al f 50 gadal)

¢ 4 kad) o geda sala
e o aal s (883 ga sall QA e (Sl Slal ) ) Al jall clElSal) sae o Ay Hbal)
sl

ol oS (5 sa Jslaall e il aal 5 JS G i s le ) o S i iy 3 J sladld

c 2l (e as g

ol (o AaaS (B bty Il mas o ol ya 9.8 B3 (e slane Il & ke anal 1 s
LA sladll s gl Sy
D Jad)
Jse) = 0.1 sl o)sh ) A/ 3 A = Laeall &Y 5e 22c
H2S04 ... cliy <) (mes (f Lay
Lol e ASa o =Y /0 ) = Gaeal) Gl e
Soke v AYo = A/ vo =4

{_f* - >
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2 (X)) il st ; Ll
S22l e daguda g 5Sall 138 Y g0 22 g8 Jelaall AL el Jall sl
B liall i 5l Sl ()5S Vs bl i s e Y 5l

nB

nA +nB

OSSO oS e Jslaal dauilld | oas 1) Laila (5 s J slaall 4y Jall )5Sl & gana

XA+ XB=1
Mﬁdﬁéﬂ\ﬂ\g@@ﬁu‘@ﬂ\wujb‘au}ﬂ\o\jj\qks\ K\
adalaall (e
We / MB
ng =

Wa / Ma+Ws/ Ms
B e A g Sall 4 5al 15 5Y) a MB ¢ MA G

moles of solute
moles of solutet+moles of solvent
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Parts per million (ppm) & parts per assdl & & jadl g galal) & 5 ) : lala
billion (ppb) s .

(8T ) Alall s puaal) 30l sl anding sl S e sadiaall S i 3k oy i ke
Ostle JS () slina 13gd () salall 8 aa) 56 3 53 J slaa J 585 Ladid(@lmost trace amounts)

LIl (e al ya dal 5 5 sm Slie Jslaall (e al o

mass solute . 108 _ concentration (ppm)
mass solution

mass solute 5 :
— % 107 = concentration b
mass solution (ppD)

¢-
Geala Ve XY e cginilglan s @l sle e alga Y00 ¥ L5 dke : Jl

¢ Oslall b s ally Led il il 38 55 gale i il

1.7x10 4 g Phosphates

B :
x 10~ =1.1 ppm
1.553x10 2 g Solution
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(Grula paile)

mass £
Mass% = — x 100
total mass of solution
mass £
= x 10°
PP = Sotal mass o f solution
mass A
b= x 10°
P20 = Sotal mass o f solution

__ moles of solute
A O, (] [TILOLES

___moles of solute

L of solution
moles o1 solute
kg of solvent

T =
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salad 1.0 g/mLed Jstaall 4US o caale )3 100mL 2 CoCl, <359 il -3
43 ) ) 4y gall sl J glaall S i

%m = 3.5 g CoCl2
100g H,O

= 3.5% (m/m)

100 mL of
3.5%(m/v) CoCl,

10% (mA) CoCl,
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oablal 3 558 Al ) & Gl o shill delia aie 5Ll il Alaladd NAOH 2o ¥
NaOH o+ 500 ML 4sss Jslae dasd NaOH 00 4.0 g pasiad 136 ¢ Tlas
$ Jslaall 4 )Y 50 alai

1) 4.0 g NaOH x 1 mole NaOH = 0.10 mole NaOH
40.0 g NaOH

2)500.mL x 1L = 0.500 L
1000 mL

3.0.10 mole NaOH = 0.20 mole NaOH
0.500 L 1L
=0.20 M NaOH

Al Y oa da ) Jsladdl 35 Y ge o8 Led Je 400 4enas Jslae (8 KOH (0 Jse Y cadl oY

T (NseAalo

M= 2mole KOH = 5M
04L
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Shoall ool O IME ¢ 2.0 L 4dew (50 B glucose (C6H1206) (w72 g <l -£
o al v Yo a da) Jslaall 45 )Y 5e 4 i< 180. g/mole s sSsiall @ molar mass

SOV 5e ¥ Gl

72g x 1lmole x _1 = 020M
180.g 20L

HCI QY}AJAQeSSO]_OMcﬁS}HCl@de)&uAcdyaﬂoM\uﬂSh\-o
§(dse v V0 Al Y 0Ll Ve ada) sl sarall Jslan (e 1500 ML (8 02 5 sall

Jall
1500mL x _ 1 L 15L

1000 mL

1.5L x 0.10 mole HCI = 0.15 mole HCI
1L
(Molarity factor)

Y KCl &2 0.50 M oS5 925 L 4eaa Jslaa A33sagall KCI el s 23 oS 1
¢ (@93 ei 5.0 ei 1.3 2 da
Jall

25 L x 0.50 mole x 74.6 g KCIl = 93 g KCI
1L 1 mole KCI
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0.15 & ssisag HCl e 0.10 M 0S5 gl sarall (aaala il jililla dae oS -V
f(mL 5000 ol 1500 &1 150 s Ja) HCI ¢ mole

Jad
0.15 mole HCI x 1L soln x 1000 mL

0.10 mole HCI 1L
(Molarity inverted)

= 1500 mL HCI

400 4a2a293.0 M 2385 NaOH (e Jotaa jpaail 4a DU NaOH <l a a3 oS -A
(> 300 148 4112 ada)mL

4000mL x_1L = 0.400L
1000 mL
0.400 L x 3.0 mole NaOH x 40.0 g NaOH
1L 1 mole NaOH
=48 g NaOH (molar mass)
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250 ML 4axa Jslaa Jard plall ¢pa 43S 43a8 8 NiCl,06 H,O = 5.00g 4903) i -4
¢ Jslaal) 13gd 6 Y sall S AN ol
Jadl o

0 me
Step 1: Calculate moles of NiCl,*6H,0

. 1 mol

5.00g - =0.0210 mol
g

Step 2: Calculate Molarity

0.0210 mol
0.250 L

=0.0841 M

[NiCl,*6 H,0] = 0.0841 M

038 s 250 ML 4ens Jslas jumailas 33U H,Co0, sy ads A1 o Le o) s
¢ adall 14 (0 0.0500 M
Jall
Moles = MsV
Step 1: Change mL to L.
250 mL * 1L./1000mL = 0.250 L
Step 2: Calculate.
Moles = (0.0500 mol/L) (0.250 L) = 0.0125 moles
Step 3: Convert moles to grams.
(0.0125 mol)(90.00 g/mol) =1.13 ¢
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A sall Cal | el 50 250.9 A JsSils cli¥) e (1.00 mol) 62.5g 43 &5 -
¢ JsSala iU 4 1) 4 sl 4l
Jal

Calculate molality
1.00 mol glycol

conc (molality) = = 4.00 molal
0.250 kg H>O
Calculate weight %
%glycol = 62.19 x 100% = 19.9%

62.1g + 250. g

sl Zn? il G 5.4 pg ol s sind el a5 2,50 a5 4 sall sbiall (a die ) ¥
€ 0 salall b ¢ Sally o3l S 5

Jall
i ass of solute Ed x107%g
= w108 = w100 = 2.2
mass of soln 25 PE

s Jslae 8 NaOCI 4 mole fraction dsell susll sf el oSl cusal VY
¢ Wl & NaOCI o« 3.62 mass percent = s si~2 a commercial bleach sl
Jall

3.62gNaOCI 3.62gNaOCl
100gsolution 3.62gNOCI +96.38gWate
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1molNaOCI

3.62gNaOCl
74.44gNaOCl
3.62gNOC] _TMOINOCI o0 o6 awate 1MOIH-O
74.44gNaOCl 18gH.,0O

0.048628molINaOCl
0.048628moINOCI +5.3544molWate

=0.00900

eslsh 420 g b CigHs ol e 36.5 g Al somma Jslae ¥ sa oo Lo o)
¢ C/Hg
Jall

trnolas soliata

Molality =
Ry kilogram s of solvent

1molC,Hg
©128.179C, ,H,

420gsolvent 10‘299 = 0.28477/ 420 = 0.678024 m

36.59C, H

m =
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0.876 & il 3e225Q scnsishll (e 5.0 g oo OsSe Jslae A8US o cuale 13 -V 0
¢ el i 5 gl 4 siall 4l ANy I laall 43 5Y g amanle g/mL
Jad)

bMasssoln =50g + 226 g =230 ¢

1L
0876z

Milliliters soln = (230 g)( ) = 263 mL

lmol < H,
Moles CH, = (50 g CHL) 525 C,H, = 0054 mol
7

. moles CH, 0,084 mol CH, A 1000mL soln
Molasity = - — 021 M
Sy Hiter soln ( 263 mL soln 1L soln
50 g CH, 50g
08 — e =] 4 = 2.2%
Mass % GHy = 5rm ooy X 100 = g X 100 = 2.2%
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